

# Southgate Cricket Club 2009 Season Review



### JIM CONROY 1934-2009

SCC 2009 Season Review

### **SOUTHGATE CRICKET CLUB 2009 REVIEW**



### TABLE OF CONTENTS

Торіс	Page
Table of Contents	1
Results Table	2
The 2009 season review	3
End of Season Awards	5
Batting Averages	6
Bowling Averages	8
Highlights of 2009:	10
Batting totals	10
Centuries	10
Large partnerships	11
Bowling: five wickets or more	11
economical analyses	12
Fielding and miscellaneous statistical items	12
1 <sup>st</sup> XI League Tables	13 14
1 <sup>st</sup> XI League Averages 1 <sup>st</sup> XI League Report	14
	-
2 <sup>nd</sup> XI League Tables	17
2 <sup>nd</sup> XI League Averages	18
3 <sup>rd</sup> XI League Tables	19
3 <sup>rd</sup> XI League Averages	20
1987 League Tables	21
4 <sup>th</sup> XI League Averages	23
4 <sup>th</sup> XI League Report	24
Southgate Colts	27
SCC Players Career Averages – batting	30
– bowling	31

# Southgate Cricket Club 2009 Results

Category	Fixtures	Won	Tied	Drawn	Lost	Aband	Canc'd
1 <sup>st</sup> XI Middlesex League	18	8	-	4	4	2	-
1 <sup>st</sup> XI Cup matches	5	2	-	-	3	-	-
2 <sup>nd</sup> XI Middlesex League	18	4	-	5	6	3	-
3 <sup>rd</sup> XI Middlesex League	18	4	-	2	11	1	-
4 <sup>th</sup> XI 1987 League	18	7	-	3	6	1	1
1 <sup>st</sup> XI Friendly	19	4	-	3	3	-	9
2 <sup>nd</sup> XI Friendly	21	4	-	1	4	1	11
3 <sup>rd</sup> XI Friendly	2	1	-	-	-	-	1
Other Friendly	1	-	-	-	1	-	-
Totals	120	34	-	18	38	8	22

### Sponsored by Underpin and Makegood

(Contracting) Ltd 37 Millmarsh Lane, Enfield, Middlesex EN3 7UY Tel: 020 8805 4000 Fax: 020 8805 4222 DDI: 020 8344 4141



**THE 2009 SEASON** 

### **Ricky Gunn**

The news which overshadowed everything else at Southgate Cricket Club during the summer of 2009 was the sad passing of Jim Conroy. Jim had suffered from ill health over the last few years as cancer and its treatments took their toll but until the very end he was always pretty much his typical self, always interested in sport, constructively critical as ever, and very patient with the condition with which he found himself having to contend.

The cover picture shows Jim in familiar public speaking role, an activity that he happily fulfilled for many years using his dry Yorkshire wit and without the need for indecent language.

Jim's home town was Rotherham and his support for the football club was unstinting ("unbeaten in Europe!"). He was educated at the De La Salle College, Sheffield and attended Manchester University. He came to the south as an aircraft engineer working for De Havilland at Hatfield but decided to take up teaching Physics. On being posted to Enfield Grammar School he joined Southgate Cricket Club in 1956 as an opening bowler. His influence as 1st XI captain from 1973-75 paved the way for the achievements that were to follow under his successor Chris Payne.

Jim gave a lot of his time helping to run the club and acted as a Trustee to The Walker Association. For many years he played a key role in the Schools Cricket Association of Middlesex organising the inter-school knock-out competitions.

His competitive zeal extended to the golf course. He was a member at Bush Hill Park Golf Club which became the venue for the gathering after his funeral service at Our Lady of Mount Carmel & Saint George RC Church, Enfield.

His memory is enshrined in a semi-circular bench under the oak tree near the gate at The Walker Cricket Ground and also in an end of season local cricket competition to be played for the Jim Conroy Trophy.

#### Jim Conroy at Southgate CC

Elected SCC playing member 1956.

107 wickets (15.57) 1957. Best bowling 9-31 vs Wimbledon 1957 (remaining wicket was a run-out). Highest score: 100 not out v BBC, 1970. 3rd wicket partnerships of 178 with Dick Newton vs Folkestone, 1970 and 170 with Colin Done vs Dorset Rangers 1974.

Served on General Committee 1961-67, 69-70, 73-79, 86-90. Chairman 1977-78, 1986-90.

House Representative on the Club Joint Committee with the other clubs and Trustees 1967 Management Representative on the Club Joint Committee 1986-90.

Cricket Committee Chairman 1979.

Extra 1st XI vice-captain 1963-64 Extra 1st XI captain 1965 1st XI vice-captain 1968 1st XI captain 1973-75 2nd XI vice-captain 1978 2nd XI captain 1979

Elected vice-president 1976 President 2001-03

# So near yet so far

The fortunes of the 1<sup>st</sup> XI in 2009 were a common talking point around the circuit during the season. Early predictions saw Southgate and South Hampstead vying for promotion to the Premier Division, with Brentham to be consigned to oblivion after the loss of key players. In the event, Southgate finished third and failed to make the leap, and South Hampstead were fortunate not to be relegated, with Brentham finishing next above them. Southgate's 2<sup>nd</sup> XI would have been disappointed at their 8<sup>th</sup> position, but still remain the only Southgate XI in a top division. The 3<sup>rd</sup> XI suffered the greatest ignominy of all by becoming relegated to the 3<sup>rd</sup> Division for the 2010 season, the first time a Southgate side has plumbed this depth. It is critical that this situation is redressed immediately, so player availability is the essential priority.

The fact that the 1<sup>st</sup> XI league side was so successful was all the more exceptional in that we lacked the luxury of a quality overseas player. Alvin Durgacharan, relieved of the pressure of captaincy, scored regularly to reach 560 league runs, very well supported by Jamie Jouning (497 runs) and Matt Creese, returning for the first time since 2005, with 488 runs and 20 wickets. Fawad Mullahzada took 28 wickets, and Rob Johnson (27 wickets and 212 runs) thrived in his role as the club's new captain. Tom Allan scored 432 runs with a big hundred against South Hampstead before being sidelined by an injury, and Ben Hartman 338.

As remarked above, the 2<sup>nd</sup> XI finished a slightly disappointing eighth. The club was fortunate this year to enjoy the services of Chris Falconer who scored 365 runs. Paddy Robinson scored 319 (including an unbeaten 127 against Brondesbury, and Jamie Wilson and Dave Woffinden also exceeded 200 runs. Woffers also took 26 wickets (at 11.76) and Adrian Carr 28.

The  $3^{rd}$  XI's 2008 promotion to the top division has been followed by two successive relegations. In 2010, therefore, we shall be playing in the third division, an unthinkable position for the club. It is critical that our availability improves dramatically so that an immediate reversal takes place. We cannot be destined to play for our lives against Kenton, Harrow Town or Wycombe House third XIs. Last year's newfound success, Simon Hughes took on the captaincy for 2009 but was beleaguered with unstable and inconsistent elevens. He scored 130 at North London but otherwise found runs harder to get. Older stalwarts Richard Bishop-Laggett (373 runs, including a maiden club hundred against Uxbridge) and Alan Jenner with 290 contributed the major share of the runs. Fionn Webb and Richard Marshall also exceeded 200 runs, while 16 year-old Partha Dave displayed considerable promise with 83 at home to North London. Arvind Shah bore by far the brunt of the bowling and earned himself 35 wickets at 16.82, getting five or more wickets four times with a best of 7-51 at North Middlesex. A sad finish for the  $3^{rd}$  XI for whom 48 players had represented the side this year – but 2 centuries, 10 fifties and 8 five+ wicket hauls was hardly evidential of a side bound for relegation.

The 4<sup>th</sup> XI spent the entire season in strong contention for promotion to Division 1 in the 1987 League but lost the last four games though double or quits efforts to win outright, ultimately finishing 4th. Roy Marett was the acquisition of the season and underlined the deficiency we

Continued

have suffered for years through not having an accurate new ball exponent, although at the age of 54 he was hardly part of the youth plan. Roy's 41 wickets at 11 apiece was a telling contribution and he was inevitably backed up by skipper Len Stokes with 34. Ricky Gunn scored 371 runs, Roy Marett 341 (average 87.25) and Doug Gordon 314. Lennie's fuller account later in this publication will fill in the details.

In July the club entertained the Sydney X Cricketers side which included Southgate veteran Martin van Rhoon and his son Connor. The latter two subsequently played a couple of League games each and Martin helped himself to a rapid 137 against a hapless North Middlesex 3<sup>rd</sup> XI.

Ricky Gunn, Len Stokes and Paul Lassman represented the 1987 League XI against other Middlesex clubs.

Alvin Durgacharan (well) exceeded 1,000 runs for the second time. Jamie Jouning scored 632 and Tom Allan 620. Partha Dave, Matt Creese and Ricky Gunn all exceeded 500. The top wicket takers, at the various levels of the club, were Len Stokes with 47, Roy Marett 41, and Rob Johnson 40. Career landmarks: Congratulations to Jamie Joining on passing 15,000 runs for Southgate, Alvin Durgacharan 10,000 (now 11,000) runs, Dave Woffinden 5,000 runs and 200 wickets, and Len Stokes on passing 600 wickets. The career averages section is gradually expanding and appears at the end of this Review.

During the winter Fionn Webb and Jamie Wilson qualified as Level One cricket coaches so we look forward to some fresh enthusiastic ideas in the colts' section next year.





# **BATTING AVERAGES 2009**

	Matches	Innings	N/Os	Runs	<b>Highest</b> (* = n.o.)	Average	100s	50s	Ct	St
R. A. Marett	13	9	5	349	101*	87.25	1	1	1	-
T. J. Allan	14	13	2	620	128*	56.36	2	3	6	-
A. Samarakkody	8	6	0	290	156	48.33	1	1	1	-
S. C. Hughes	17	16	3	625	130	48.07	3	2	4	-
P. J. Robinson	17	16	5	494	127*	44.90	1	3	15	-
B. R. Hartman	20	17	5	512	91*	42.66	-	4	3	-
A. K. Durgacharan	30	30	1	1176	129	40.55	2	9	10	-
M. L. Creese	15	14	1	506	124	38.92	1	3	10	-
J. D. Dangerfield	8	8	2	225	101*	37.50	1	1	1	-
R. Bishop-Laggett	15	13	2	400	107*	36.36	1	3	5	1
R. D. Gunn	24	22	8	503	150*	35.93	1	2	15	13
J. B. Jouning	21	21	2	632	114	33.26	1	2	11	-
R. A. Johnson	26	22	7	496	162*	33.06	1	3	13	-
S. Vaya	4	2	0	63	36	31.50	-	-	2	-
P. S. Dave	8	8	1	215	83	30.71	-	2	1	-
W. J. Dean	8	7	1	181	40*	30.17	-	-	-	-
J. G. Wilson	14	13	1	357	102	29.92	1	-	1	-
D. A. Woffinden	16	12	3	264	75	29.33	-	1	4	-
K. Depala	4	4	0	106	53	26.50	-	1	1	-
Sawan Shah	5	5	2	79	28*	26.33	-	-	1	
C. Falconer	16	16	1	391	71	26.07	-	2	2	-
L. Chipperfield	8	5	1	100	55*	25.00	-	1	2	-
T. H. L. Hadgie	24	20	5	374	47	24.93	-	-	9	-
D. Gordon	17	16	2	340	64	24.28	-	3	7	-
A. Kennedy	4	4	0	96	74	24.00	-	1	2	-
F. W. P. Webb	15	14	2	285	70	23.65	-	1	4	-
O. Ali	19	13	7	141	44	23.50	-	-	3	-
A. R. Jenner	21	21	1	452	75	22.60	-	2	6	-
M. T. Clucas	5	4	0	90	34	22.50	-	-	1	-
A. Quiyum	11	10	1	202	65	22.44	-	1	2	-
R. Loganathan	15	14	0	299	60	21.36	-	2	5	-
P. Dunnett	27	21	1	426	97	21.30	-	2	9	12
R. J. Marshall	13	12	0	247	95	20.58	-	1	-	-
A. J. Vinson	13	13	1	220	70	20.00	-	1	-	-
L. J. W. Stokes	23	17	9	158	29*	19.75	-	-	6	-
C. Attwood	11	10	2	153	35*	19.12	-	-	12	1
D. W. Pyzer-Knapp	15	14	3	199	50	18.09	-	1	4	3
Fawad Mullahzada	26	19	2	298	35	17.92	-	-	2	2
J. Hemingway	16	12	1	180	47	16.36	-	-	5	3
D. Milgate	15	11	0	174	71	15.81	-	1	7	-
T. J. Yeomans	10	10	0	152	50	15.20	-	1	2	-
D. Paul	4	2	0	30	28	15.00	-	-	1	-

Continued

#### Batting averages continued

	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St
B. Depala	5	5	0	69	47	13.80	-	-	-	-
V. Katyal	16	13	2	147	56	13.36	-	1	1	-
S. Faruqi	17	16	3	171	49	13.15	-	-	2	-
S. Cradock	14	9	4	64	26	12.80	-	-	7	-
M. Mallinson	4	4	0	51	26	12.75	-	-	2	-
F. M. Guppy	22	18	2	199	76	12.44	-	1	6	-
Ashik Shah	16	14	0	163	50	11.64	-	1	1	-
T. W. Edrich	6	5	0	57	31	11.40	-	-	-	-
B. Odulwole	20	19	1	200	89	11.11	-	1	2	-
H. Cahill	13	13	3	110	44	11.00	-	-	2	4
R. F. Hill	17	12	3	88	27	9.77	-	-	3	-
H. M. Dowsett	13	10	1	87	24	9.66	-	-	1	-
W. Fox	4	4	0	38	20	9.50	-	-	2	-
A. J. Carr	22	11	3	73	19	9.13	-	-	7	-
D. Depala	5	5	0	42	24	8.40	-	-	2	-
R. M. Hewit	10	3	2	7	6*	7.00	-	-	-	-
K. Hassanin	4	3	1	13	13*	6.50	-	-	-	-
P. Lassman	27	16	9	45	12*	6.42	-	-	8	-
N. Mazhar	12	6	1	31	14*	6.40	-	-	1	-
J. D. Berman	6	5	1	23	14	5.75	-	-	2	-
P. A. Sivarajah	10	9	2	39	12	5.57	-	-	5	-
M. Stavri	5	5	1	19	5*	4.75	-	-	1	-
A. Habberley	12	6	1	23	11*	4.60	-	-	-	-
Arvind Shah	12	7	3	15	12*	3.75	-	-	2	-
D. Simms	16	9	3	16	8	2.66	-	-	5	-
M. J. K. Lassman	10	7	0	17	14	2.42	-	-	-	-
J. Lauras	7	3	0	7	6	2.33	-	-	-	-
D. K. Walters	11	4	1	4	4*	1.33	-	-	1	-
M. D. J. Singleton	15	6	6	5	4*	-	-	-	10	9
R. Mullahzada	8	1	1	2	2*	-	-	-	1	-

#### Also played:

**Three matches:** H. Debasia 0, 0; M. S. Faiz 7\*, 7; 0; J. A. L. McLuskey 0; 2 (1 ct); D. Turnbull 28, 0, 2; G. Saunders 1, 0, 0; C. A. Scotcher 25, 8, 4; T. Sivarajah 15.

**Two matches:** R. Desai 0\*; P. Kuleratne 38, 6 (3 ct); J. R. Perks 2, 50 (2 ct); A. Roberts 9; A. G. H. Rolt 0; C. van Rhoon 19, 29 (2 ct); M. van Rhoon 47, 137 (2 ct); A. M. Scotcher 25, 25 (1 ct); Vinesh Shah 0, 10; H. Trivedi 0 (1 ct); K. Watson 0, 8\*.

**One match:** Y. Abbas; M. O. Arif; D. G. Ashley 0 (1 ct); G. N. Blackmore; B. Cohen; L. De Glossop 10; P. Draper; S. Flook 1\*; R. J. Fone 0 (1 st); I. W. Henley 8; D. J. C. Howell 6; M. P. B. Kennedy 16 (3 ct); R. Luder 15 (1 ct); P. B. Madden 4 (1 ct); M. Medwin (2ct); A. Qadir 6; R. Savage 26; C. Saville 0; Sudhir Shah 25; A. Sinclair; P. A. Stevens 5; S. Stevens 19; C. A. Waller 98\* (1ct); K. Weston 15.

Totals: 119 players; 17,394 runs scored of which 1,712 were extras; 313 catches (including 1 by a substitute and 29 unidentified); 49 stumpings.



# **BOWLING AVERAGES 2009**

Overs Mdns Runs Wkts Average Best 5wkts S/Rate Economy

Balls/wkt Runs/over

R. A. Marett	160.2	12	520	41	12.00	0 / 1	2	24.62	2 1 2
D. A. Woffinden	168.3 161.3	43 48	529 520	41 35	12.90 14.85	8-41 5-40	2 1	24.62 27.65	3.13 3.22
Arvind Shah	101.3	48 20	520 589	35	14.83	5-40 7-51	4	27.03	5.22 4.13
D. Paul	28.0	20 4	101	55 6	16.82	3-53	-	24.40	4.13 3.60
L. H. Chipperfield	28.0 27.0	4 5	101	6	10.85	3-33	_	28.00	3.81
B. Oduwole	27.0 56.0	6	269	15	17.10	3-24 7-45	2	27.00	4.80
A. J. Carr	256.0	53	829	42	17.93	6-60	$\frac{2}{2}$	22.40 36.57	4.80 3.24
L. J. W. Stokes	230.0 199.2	16	945	42 47	20.10	0-00 5-45	2 4	25.43	3.2 <del>4</del> 4.74
B. R. Hartman	62.0	10	225	47	20.10	3-43	-	33.81	3.62
A. Samarakkody	02.0 46.4	8	166	8	20.44	3-17	_	35.00	3.58
D. Milgate	117.4	19	510	24	20.75	5-52	- 1	29.35	3.38 4.34
R. A. Johnson	222.5	32	863	40	21.23	4-39	-	33.42	3.87
J. A. L. McCluskey	27.3	5	123	5	24.60		_	32.76	3.87 4.51
Fawad Mullahzada	204.4	25	936	38	24.62	5-63	1	32.27	4.58
M. L. Creese	121.3	15	493	20	24.65	6-54	2	36.39	4.06
S. Faruqi	121.5	22	510	20	25.50	7-35	1	36.93	4.14
P. A. Sivarajah	84.1	3	414	16	25.87	6-40	1	31.54	4.92
T. H. L. Hadgie	175.2	35	604	23	26.26	3-21	-	45.73	3.44
S. Cradock	116.2	19	456	17	26.82	5-46	1	41.05	3.92
S. M. Faiz	29.0	5	83	3	27.66	3-39	_	58.00	2.86
A. K. Durgacharan	26.0	1	146	5	29.20	3-55	-	31.20	5.61
A. Quiyum	100.2	6	450	15	30.00	5-65	1	40.08	4.49
D. Simms	78.0	12	334	11	30.36	3-0	-	42.55	4.28
Sawan Shah	26.0	5	129	4	32.25	2-30	-	39.00	4.96
R. Desai	27.0	1	134	4	33.50	4-113	-	40.50	4.96
N. Mazhar	72.0	2	425	12	35.41	5-59	2	36.00	5.90
V. Katyal	60.0	6	287	8	35.88	3-31	-	45.00	4.78
P. Dunnett	30.0	4	167	4	41.75	3-43	-	45.00	5.57
R. M. Hewit	71.0	6	337	8	42.12	3-50	-	53.25	4.74
R. F. Hill	98.0	15	407	9	45.22	2-13	-	65.33	4.15
D. Turnbull	22.0	3	94	2	47.00	1-29	-	66.00	4.27
T. W. Edrich	31.0	2	153	3	51.00	2-44	-	62.00	4.93
A. J. Vinson	26.2	2	162	3	54.00	1-21	-	52.40	6.18
A. Habberley	78.0	4	445	8	55.63	2-42	-	58.50	5.71
O. Ali	97.1	7	505	9	56.11	3-42	-	64.73	5.20
F. M. Guppy	119.0	16	565	10	56.50	4-52	-	71.40	4.74
P. Lassman	151.2	9	967	13	74.38	2-34	-	69.78	6.40
Rashid Mullahzada	39.0	3	194	2	97.00	2-16	-	117.00	4.97
D. K. Walters	24.2	3	113	1	113.0	1-9	-	145.20	4.66
M. T. Clucas	28.0	3	118	1	118.0	1-20	-	168.00	4.21

Continued ...

#### Bowling averages continued

Also bowled (Between 10 and 20 overs):									
	Overs	Mds	Runs	Wkts	Av'ge	Best	5w	Strike	Econ
P. Kuleratne	10.0	1	20	3	6.66	3-20	_	20.00	2.00
S. Vaya	19.3	1	20 92	6	15.33	5-34	1	19.30	4.77
D. Gordon	11.2	1	43	3	14.33	2-25	-	22.40	3.84
C. Saville	20.0	2	63	4	15.75	4-63	-	30.00	3.15
D. Paul	13.0	1	48	3	16.00	2-14	-	26.00	3.69
W. J. Dean	17.0	0	94	5	18.80	3-46	-	20.40	5.52
A. G. H. Rolt	11.0	4	39	2	19.50	2-15	-	33.00	3.55
J. R. Perks	13.0	2	50	2	25.00	1-12	-	39.00	3.84
J. Lauras	18.0	0	115	3	38.33	2-53	-	36.00	6.39
P. J. Robinson	15.0	0	91	3	30.33	2-25	-	30.00	6.07
J. D. Berman	11.0	2	46	1	46.00	1-15	-	66.00	4.18
K. Hassanin	18.0	0	95	2	47.50	1-12	-	54.00	5.27
H. Debasia	18.0	0	108	0	-	0-17	-	-	6.00

**Also bowled** (under 10 overs): Y. Abbas 6.0-0-30-0; M. O. Arif 4.0-0-14-1; 6.0-1-24-1; R. Bishop-Laggett 5.0-0-29-1; B. Cohen 8.0-2-25-3; J. D. Dangerfield 8.0-2-45-2; B. Depala 7.0-1-39-1; D. Depala 1.0-0-3-0; K. Depala 6.0-0-27-2; S. Flook 8.0-0-49-1; D. Gordon 6.0-1-18-1; D.C. J. Howell 2.0-0-17-0; S. Hughes 7.0-0-47-3; A. R. Jenner 2.4-0-14-0; R. Loganathan 7.0-0-60-0; M. Medwin 9.1.0-0-43-2; A. M. Scotcher 3.0-0-27-0; C. Scotcher 4.0-0-15-3; P. Stevens 4.0-0-17-2; S. Stevens 2.0-0-17-0; J. G. Wilson 2.0-0-10-0.

### **Andy Nelson-Cole**

It is with great sadness that we announce the death of Andy Nelson-Cole who died peacefully in hospital on Saturday 28<sup>th</sup> March 2009. He was 65. Although West Indian by background, he regarded himself very much as a Scot having been brought up in Glasgow, and on coming to London played rugby for London Scottish RFC.

He played cricket for North Middlesex CC for 29 years before moving to Southgate in 1996 for four seasons, scoring 105 against Kenton III in 1998. In 2000 Andy moved home to Great Baddow in Essex where he immediately joined Galleywood CC.

To all those who knew him or played with him he was a larger than life character who brought great laughter and joy to those around him. The funeral service was held at Chelmsford Crematorium on 7<sup>th</sup> April.

Our sincere condolences go to his widow Noeleen and her family.

# **HIGHLIGHTS OF 2009**

(NB: ML = Middlesex County League; NCKO= National Knockout)

### BATTING

<b>T</b> ( <b>T</b> ) ( <b>1</b> )							
Large Totals							
For:		3 <sup>rd</sup> XI v North Middlesex III (ML) (a)					
		1 <sup>st</sup> XI v Young Lions (h)					
		1 <sup>st</sup> XI v Enfield I (ML) (a)					
		1 <sup>st</sup> XI v Enfield I (ML) (h)					
	271 for 2	2 <sup>nd</sup> XI v Brondesbury II (ML) (h)					
	265 for 7	1 <sup>st</sup> XI v 1987 League XI (h)					
	264 for 7	1 <sup>st</sup> XI v Twickenham I (ML) (a)					
		2 <sup>nd</sup> XI v Highgate XI (a)					
	246 for 5	1 <sup>st</sup> XI v Harrow I (ML) (h)					
Against:	327 for 2	1987 League XI v 1 <sup>st</sup> XI (h)					
	313 for 8	Barnet Bs v 3 <sup>rd</sup> XI (ML) (a)					
	288	Fancy Dans v Sunday XI (h)					
	286 for 6	Stanmore v 1 <sup>st</sup> XI (ECB NCKO) (h)					
		North London III v 3 <sup>rd</sup> XI (ML) (a)					
		Enfield I v 1 <sup>st</sup> XI (ML) (a)					
	270	Harrow III v 3 <sup>rd</sup> XI (ML) a)					
		Winchmore III v 3 <sup>rd</sup> XI (ML) a)					
		MCC v 1 <sup>st</sup> XI (h)					
		Acton IV v 4 <sup>th</sup> XI (1987 League) (h)					
Lowest All-Out T	-	r 100)					
	71	3 <sup>rd</sup> XI v Barnet Bs (ML) (a)					
	93	2 <sup>nd</sup> XI v Brondesbury II (ML) (a)					
Lowest Totals (O	ppositions)	:					
	87	Stanmore II v 2 <sup>nd</sup> XI (ML) (h – Winchmore Hill)					
Centuries (18)							
T. J. Allan (2	2)	113 1 <sup>st</sup> XI v Thatcham Town I (h)					
·	,	128* 1 <sup>st</sup> XI v South Hampstead I (ML) (h)					
J. D. Danger	field	101* 2 <sup>nd</sup> XI v Richmond II (a)					
A. K. Durga		129 1 <sup>st</sup> XI v Harrow Town I (Middlesex KO Cup) (h)					
-		120 1 <sup>st</sup> XI v 1987 League XI (h)					
R. Bishop-La	aggett	107* 3 <sup>rd</sup> XI v Uxbridge III (ML) (h)					
M. L. Creese	,	124 1 <sup>st</sup> XI v Harrow I (ML) (h)					
R. D. Gunn		150* 4 <sup>th</sup> XI v MTSSC IV (1987 League) (h)					
S. C. Hughes	s (3)	130 3 <sup>rd</sup> XI v North London III (ML) (a)					
		119* 3 <sup>rd</sup> XI v Rickmansworth III (h)					
		116* 2 <sup>nd</sup> XI v Cypos (h)					
R. A. Johnso	n	162* 1 <sup>st</sup> XI v Young Lions (h)					
J. B. Jouning		114 $1^{\text{st}}$ XI v Enfield I (ML) (a)					
R. A. Marett		101* 4 <sup>th</sup> XI v Brondesbury IV (1987 League) (a)					

P. J. Robinson	127*	2 <sup>nd</sup> XI v Brondesbury II (ML) (h)
A. Samarakkody	156	2 <sup>nd</sup> XI v Wembley II (h)
M. van Rhoon	137	3 <sup>rd</sup> XI v North Middlesex III (ML) (a)
J. G. Wilson	102	2 <sup>nd</sup> XI v Brondesbury II (ML) (h)

**Large Partnerships** (\* = not out/unbroken partnership)

1<sup>st</sup> wkt 236 (A. Samarakkody 156, P. S. Dave 65\*) 2<sup>nd</sup> XI v Wembley II (h) 1<sup>st</sup> wkt 216 (J. G. Wilson 102, P. J. Robinson 127\*) 2<sup>nd</sup> XI v Brondesbury II (ML) (h) 1<sup>st</sup> wkt 186 (J. B. Jouning 114, A. K. Durgacharan 78) 1<sup>st</sup> XI v Enfield I (ML) (a) 1<sup>st</sup> wkt 155 (R. A. Johnson 162\*, A. K. Durgacharan 62) 1<sup>st</sup> XI v Young Lions (h) 1<sup>st</sup> wkt 130 (J. B. Jouning 94\*, A. K. Durgacharan 51) 1<sup>st</sup> XI v North London I (ML) (a) 1<sup>st</sup> wkt 113 (R. Loganathan 60, S. C. Hughes 55) 2<sup>nd</sup> XI v Highgate II (a) 1<sup>st</sup> wkt 112 (R. D. Gunn 68\*, D. Gordon 38) 4<sup>th</sup> XI v Hanwell III (1987 League) (a) 2<sup>nd</sup> wkt 130 (J. Hemingway 24, M. L. Creese 124) 1<sup>st</sup> XI v Harrow I (ML) (h) 3<sup>rd</sup> wkt 126\* (B. R. Hartman 91\*, T. H. L. Hadgie 35\*) 1<sup>st</sup> XI v Fives & Heronians I (h) 5<sup>th</sup> wkt 113 (T. J. Yeomans 50, F. Guppy 76) 1<sup>st</sup> XI v Old Citizens (h) 5<sup>th</sup> wkt 112\* (R. D. Gunn 150\*, R. A. Marett 33\*) 4<sup>th</sup> XI v MTSSC IV (1987 L) (h) 5<sup>th</sup> wkt 109\* (J. D. Dangerfield 101\*, D. A. Woffinden 33\*) 2<sup>nd</sup> XI v Richmond II (ML) (a) 6<sup>th</sup> wkt 129 (S. C. Hughes 130, R. F. Hill 26) 3<sup>rd</sup> XI v North London III (ML) (a) 7<sup>th</sup> wkt 91\* (L. Chipperfield 55\*, L. J. W. Stokes 29\*) 4<sup>th</sup> XI v Edmonton IV (1987 L) (h) 8<sup>th</sup> wkt 51 (L. J. W. Stokes 28, S. Cradock 26) 4<sup>th</sup> XI v Edmonton IV (1987 L) (a) 8<sup>th</sup> wkt 36 (R. A. Johnson 50, P. Dunnett 9) 1<sup>st</sup> XI v Twickenham I (ML) (h) 9<sup>th</sup> wkt, 56 (A. Samarakkody 57, V. Katyal 18<sup>\*</sup>) 2<sup>nd</sup> XI v Eastcote II (ML) (a) 9<sup>th</sup> wkt 52 (R. A. Johnson 50, O. Ali 30\*) 1<sup>st</sup> XI v Twickenham I (ML) (h) 9<sup>th</sup> wkt 51 (T. H. L. Hadgie 21, T. Edrich 21) 1<sup>st</sup> XI v Brentham I (ML) (a) 9<sup>th</sup> wkt 28\* (D. W. Pyzer-Knapp 25\*, L. J. W. Stokes 12\*) 'A' XI v Hertingfordbury (h) 10<sup>th</sup> wkt 50 (R. A. Marett 39\*, L. J. W. Stokes 12) 4<sup>th</sup> XI v S. Hampstead IV (1987 L) (a)

### BOWLING

#### Five or more wickets in an innings (26):

R. A. Marett	8-41	4 <sup>th</sup> XI v Mill Hill Village IV (1987 L) (a)
S. Faruqi	7-35	2 <sup>nd</sup> XI v Barnet Bs II (a)
B. Oduwole	7-45	1 <sup>st</sup> XI v Old Citizens (h)
R. A. Marett	7-49	4 <sup>th</sup> XI v Hanwell III (1987 L) (h)
A. Shah	7-51	3 <sup>rd</sup> XI v North Middlesex III (ML) (a)
P. A. Sivarajah	6-40	2 <sup>nd</sup> XI v Highgate II (a)
M. L. Creese	6-54	1 <sup>st</sup> XI v Brentham I (ML) (a)
A. Shah	6-58	3 <sup>rd</sup> XI v Harrow (ML) (h)
A. J. Carr	6-60	2 <sup>nd</sup> XI v Eastcote II (ML) (h)
A. Shah	5-18	3 <sup>rd</sup> XI v Uxbridge III (ML) (h)
D. A. Woffinden	5-29	2 <sup>nd</sup> XI v Ealing II (ML) (h)
S. Vaya	5-34	4 <sup>th</sup> XI v MTSSC IV (1987 L) (h)
D. A. Woffinden	5-40	2 <sup>nd</sup> XI v Hampstead II (ML) (h)
B. Oduwole	5-40	3 <sup>rd</sup> XI v Harrow III (ML) (a)
A. Shah	5-42	3 <sup>rd</sup> XI v Winchmore Hill III (ML) (h)
L. J. W. Stokes	5-45	4 <sup>th</sup> XI v Hanwell III (1987 League) (a)
S. Cradock	5-46	4 <sup>th</sup> XI v Old Actonians III (1987 L) (h)
D. Milgate	5-52	1 <sup>st</sup> XI v Young Lions (h)
N. Mazhar	5-59	3 <sup>rd</sup> XI v Hornsey III (ML) (a)

SCC 2009 Season Review

Fawad Mullahzada	5-63	1 <sup>st</sup> XI v South Hampstead I (ML) (a)
N. Mazhar	5-61	3 <sup>rd</sup> XI v Richmond IV (a)
A. Quiyum		3rd XI v Richmond IV) ML) (a)
A. J. Carr	5-70	2 <sup>nd</sup> XI v Ealing II (ML) (a)
M. L. Creese		1 <sup>st</sup> XI v Twickenham I (ML) (h)
L. J. W. Stokes	5-87	4 <sup>th</sup> XI v Acton IV (1987 L) (h)
L. J. W. Stokes	5-113	4 <sup>th</sup> XI v North London IV (1987 League (a)

#### **Economical bowling analyses:**

T. Hadgie	7.0-5-5-1	1 <sup>st</sup> XI v Fives & Heronians I (h)
D. Milgate	6.2-3-8-4	1 <sup>st</sup> XI v North Middlesex I (ML) (a)
A. J. Carr	8.0-4-11-1	1 <sup>st</sup> XI v Twickenham I (ML) (a)
R. A. Johnson	13.0-9-20-3	1 <sup>st</sup> XI v Enfield I (ML) (h)
D. A. Woffinden	19.0-11-28-2	2.1 <sup>st</sup> XI v North London I (ML) (h)
D. A. Woffinden	14.0-9-18-3	2 <sup>nd</sup> XI v Stanmore II (ML) (h)

Miscellaneous

#### Fielding

In the field: 3 catches in an innings – S. C. Hughes 3<sup>rd</sup> XI v North Middlesex III (ML) (a) A. R. Jenner 3<sup>rd</sup> XI v Harrow III (ML) (a)

#### **High-scoring Extras**

57 in  $4^{\text{th}}$  XI's 221-6 v Acton IV (1987 L) (a) 37 in  $2^{\text{nd}}$  XI's 209-9 v Uxbridge II (ML) (h) 36 in Sunday XI's 197 for 3 v Harrow on the Hill (h)

Biggest victories:	201 runs 134 runs	3 <sup>rd</sup> XI v North Middlesex III (ML) (a) 4 <sup>th</sup> XI v MTSSC IV (1987 League) (h)
Heaviest defeats:	<ul><li>113 runs</li><li>111 runs</li><li>103 runs</li><li>10 wickets</li><li>9 wickets</li><li>9 wickets</li></ul>	1 <sup>st</sup> XI v MCC (h) 3 <sup>rd</sup> XI v Winchmore III (ML) a) 3 <sup>rd</sup> XI v Hornsey III (ML) (a) 2 <sup>nd</sup> XI v Teddington II (ML) (a) 3 <sup>rd</sup> XI v Richmond III (ML) (h) 2 <sup>nd</sup> XI v Winchmore Hill II (ML) (a)

# MIDDLESEX COUNTY CRICKET LEAGUE

### **FIRST TEAM LEAGUE TABLES 2009**

'P' = Played; W'= Won (10 points); 'WD'= Winning Draw (4 points); 'LD'= Losing Draw (1 point); 'L'= Lost (0 points); 'C'= Cancelled (1 points); 'A'= Abandoned (1 points); 'T'= Tied (5 points); 'Pen' = Penalty Points; 'Pts' = Total Points

	Р	W	WD	LD	L	А	Pen	Pts
Ealing	18	11	6	0	1	0	0	134
Teddington	18	11	1	1	5	0	0	115
Finchley	18	9	3	1	4	1	0	104
Hampstead	18	7	3	5	2	1	0	88
Eastcote	18	6	2	3	7	0	0	71
Stanmore	18	6	1	2	8	1	0	67
Brondesbury	18	4	3	5	6	0	0	57
Shepherds Bush	18	4	1	3	8	2	0	49
Winchmore Hill	18	2	3	2	9	2	0	36
Richmond	18	0	3	4	10	1	0	17

### **Middlesex Premier League**

### **Division 2**

	Р	W	WD	LD	L	А	Pen	Pts
Acton	18	10	2	2	3	1	0	112
Twickenham	18	9	5	2	2	0	1	99
Southgate	18	8	4	3	1	2	0	95
North Middlesex	18	7	5	2	2	2	0	82
Enfield	18	6	4	2	5	1	0	74
Harrow	18	6	7	2	2	1	0	71
Brentham	18	5	8	3	0	2	0	64
South Hampstead	18	4	6	2	5	1	1	53
North London	18	4	10	1	2	1	0	47
Uxbridge	18	2	10	4	1	1	0	38

### **Division 3**

	Р	w	I	WD	LD	а	t	Pen	Pts
Harrow Town	18	11	4	2	1	0	0	0	119
Kenton	18	9	2	4	3	0	0	2	107
Hornsey	18	9	3	3	3	0	0	2	103
Highgate	18	7	5	3	3	0	0	0	85
Barnes	18	8	6	1	3	0	0	8	79
Barnet B's	18	5	8	3	0	1	1	0	68
Ickenham	18	6	10	1	0	1	0	0	65
Wembley	18	5	8	2	2	1	0	0	61
Bessborough	18	3	9	0	4	1	1	0	40
Wycombe House	18	2	10	3	3	0	0	8	27

# 2009 1st XI League Averages

BATTING					(*	= not o	out)			
	Mchs	Inns	N/O	Runs	Av'ge	H'st	v Opposition	100/50	s Ct	St
T. J. Allan	11	10	2	432	54.00	128*	South Hampstead (h)	1/2	6	-
D. A. Woffinden	5	3	2	47	47.00	42*	North Middlesex (h)	_/_	-	-
P. J. Robinson	6	5	3	82	41.00	51	Twickenham (a)	-/1	4	-
M. L. Creese	14	13	1	488	40.66	124	Harrow (h)	1/3	10	-
J. B. Jouning	15	15	2	497	38.23	114	Enfield (a)	1/1	7	-
B. R. Hartman	16	13	3	338	33.80	79	Acton (a)	-/3	3	-
A. K. Durgacharan	17	17	0	560	32.94	78	Hampstead (h)	-/5	4	-
R. A. Johnson	16	14	5	212	23.55	50*	South Hampstead (a)	-/2	7	-
J. G. Wilson	6	5	0	89	17.80	30	Harrow (a)	-/-	-	-
Fawad Mullahzada	17	12	2	174	17.40	35	Harrow (a)	-/-	2	-
T. H. L. Hadgie	16	12	2	171	17.10	47	Acton (h)	_/_	5	-
A. Samarakkody	1	1	0	17	17.00	17	Uxbridge (h)	_/_	-	-
J. Hemingway	9	6	1	81	16.20	28	Uxbridge (a)	_/_	3	2
V. Katyal	4	2	0	19	9.50	19	North Middlesex (h)	_/_	-	-
T. W. Edrich	4	3	0	22	7.33	21	Brentham (a)	_/_	-	-
D. Milgate	10	7	0	50	7.14	16	North Middlesex (a)	_/_	5	-
P. Dunnett	3	2	0	9	4.50	9	Twickenham (h)	_/_	1	4
J. R. Perks	1	1	0	2	2.00	2	Brentham (a)	-/-	1	-
F. Guppy	1	1	0	1	1.00	1	North Middlesex (h)	_/_	-	-
G. Saunders	1	1	0	1	1.00	1	Twickenham (h)	-/-	-	-
C. Falconer	1	1	0	0	0.00	0	North Middlesex (h)	_/_	-	-
M. D. J. Singleton	13	5	5	5	-	4*	Acton (h)	_/_	8	9
R. Mullahzada	4	1	1	2	-	2*	Acton (h)	_/_	1	-
O. Ali	3	1	1	0	-	30*	Twickenham (h)	_/_	1	-
J. D. Dangerfield	1	1	1	2	-	2*	Enfield (h)	_/_	1	-
A. J. Carr	3	0	0	0	-	-	-	-/-	1	-

#### BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ	5wkt	Best	v Opposition
P. J. Robinson	4.0	0	25	2	12.50	12.00	6.25	-	2-25	Acton (h)
D. A. Woffinden	63.2	22	169	9	18.77	42.22	2.66	-	3-25	Twickenham (a)
R. A. Johnson	156.1	29	536	27	19.851	34.70	3.43	-	4-39	Twickenham (h)
B. R. Hartman	46.0	8	139	7	19.857	39.42	3.02	-	3-17	Twickenham (a)
A.Samarakkody	6.0	0	20	1	20.00	36.00	3.33	-	1-20	Uxbridge (h)
T. H. L. Hadgie	118.0	27	366	17	21.52	41.64	3.10	-	3-21	Harrow (h)
M. L. Creese	112.3	15	451	20	22.55	33.75	4.00	2	6-54	Brentham (a)
D. Milgate	80.4	13	325	13	25.00	37.23	4.02	-	4-8	North Middlesex (a)
A. J. Carr	32.0	11	76	3	25.33	64.00	2.37	-	1-1	Twickenham (a)
Fawad Mullahzada	157.3	21	725	28	25.89	33.75	4.60	1	5-63	S. Hampstead (a)
T. W. Edrich	22.0	2	98	3	32.66	44.00	4.45	-	2-44	North Middlesex (h)
J. R. Perks	11.0	2	38	1	38.00	66.00	3.45	-	1-38	Brentham (a)
R. Mullahzada	21.0	2	114	0	-	-	5.42	-	0-21	North Middlesex (a)
V. Katyal	2.0	0 0	6	0	-	-	3.00	-	0-6	Acton (a)

# 1<sup>st</sup> XI League Report

# Rob Johnson

# Never a dull moment

After a tough year in the Premier Division in 2008 Southgate Cricket Club's First XI reformed under the captaincy of Rob Johnson in League Division 1 with high expectations of a successful campaign.

Boosted with the welcome returns of all-rounder Matthew Creese and wicketkeeper Mark Singleton, the season started impressively with five consecutive league wins. These were, however, not without drama with some doughty tail-end batting almost rescuing Uxbridge from the perilous position of 37/7 in game 1 and a last ball 6 from Ben Hartman securing victory at home to Brentham.

A sloppy display against Acton broke the perfect record and points were dropped against Twickenham after another thrilling climax allowed three possible results off the final ball of the match.

On flat wickets the faster bowlers toiled hard week in week out but, as the season progressed, increasing emphasis was played on slow bowling. Rarely can a Southgate XI have employed more variety in slower bowling with off-spin, leg-spin and slow left arm plus the mysterious talents of Carr and Woffinden.

The points dried up and with a month to play Southgate needed two wins to assure a promotion back to the Premier Division. The next two games were both excellent high scoring affairs and outstanding hundreds from the opposition skippers of Acton and Enfield left Southgate with no points and two must-win games. A comprehensive victory at home to North London ensured a thrilling finale against fellow promotion rivals Twickenham with full points required to make it up, while the opposition could settle for the solitary point awarded for a losing draw.

And so to the finale...

Positive batting led by a dominant 83 from Creese set a target of 265 in 50 overs and in a calamitous half hour for Twickenham the rampant Southgate attack led by Hartman and Woffinden took 7 wickets for 37 runs. However, as Messrs Anderson and Panesar had demonstrated in Cardiff, determined tail-end resistance can be hard to break and a spirited fight back from Twickenham allowed them to escape a seemingly hopeless position and gain the one point they needed to pip Southgate to promotion.

It was a heartbreaking end to a truly epic campaign, memorable for its excellent team spirit and some exceptional personal contributions. Player of the season Matthew Creese showed high class in all departments; had Tom Allan's early season dominance not been again cut short by injury the final outcome may have been a different story.

All of the regular members of the First XI played their part as the excellent statistics show in this report.

RAJ



Pleading his case: Southgate bowler Fawad Mullahzadah launches into an appeal

Southgate v Enfield, 20<sup>th</sup> June 2009 Enfield Advertiser

# MIDDLESEX COUNTY CRICKET LEAGUE

### **SECOND TEAM LEAGUE TABLES 2009**

'P' = Played; W'= Won (10 points); 'wd'= Winning Draw (4 points); 'ld'= Losing Draw (1 point); 'L'= Lost (0 points); 'C'= Cancelled (1 points); 'A'= Abandoned (1 points); 'T'= Tied (5 points); 'Pen' = Penalty Points; 'Pts' = Total Points

	Р	W	L	WD	LD	С	А	Pen	Pts
Teddington	18	13	4	0	1	0	0	0	131
Ealing	18	8	5	3	1	0	1	0	94
Stanmore	18	9	6	0	2	0	1	0	93
Brondesbury	18	7	6	2	2	0	1	0	81
Richmond	18	6	4	3	3	1	1	0	77
Hampstead	18	6	7	2	1	0	2	0	71
Eastcote	18	5	5	3	4	0	1	0	67
Southgate	18	4	6	3	2	0	3	0	57
Winchmore Hill	18	4	9	2	2	0	1	0	51
Barnet B's	18	2	12	1	1	1	1	0	27

#### **Division 1**

### **Division 2**

	Р	W	L	WD	LD	С	А	Pen	Pts
Acton CC	18	9	3	2	3	0	1	0	102
Brentham	18	8	3	4	3	0	0	0	99
Shepherds Bush	18	7	3	6	1	0	1	0	96
Barnes	18	7	6	2	2	0	1	0	81
Finchley	18	6	3	3	3	1	2	0	78
Harrow	18	5	5	4	3	1	0	0	70
Highgate	18	5	8	3	1	0	1	0	64
Ickenham	18	5	7	2	4	0	0	0	62
Kenton	18	4	9	1	4	0	0	0	48
Uxbridge	18	2	11	1	4	0	0	0	28

### **Division 3**

	Р	W	L	WD	LD	С	А	Pen	Pts
North Middlesex	18	10	3	3	1	0	1	0	114
South Hampstead	18	10	4	3	1	0	0	0	113
Hornsey	18	9	4	2	1	0	2	0	101
Enfield CC	18	6	2	3	6	0	1	0	79
Harrow Town	18	4	7	6	1	0	0	0	65
Edmonton	18	6	9	0	1	0	2	0	63
Old Actonians	18	5	9	1	3	0	0	0	57
Wycombe House	18	5	7	0	5	0	1	0	56
Bessborough	18	4	9	2	2	1	0	0	51
Wembley	18	3	8	3	2	1	1	0	46

## 2009 2<sup>nd</sup> XI League Averages

BATTING					(* =	= not out)
	Mchs	Inns	N/O	Runs	Av'ge	H'st v Opposition 100/50s Ct St
P. J. Robinson	8	8	1	319	45.57	127* Brondesbury (h) 1/1 7 -
J. G. Wilson	7	7	0	260	37.14	102 Brondesbury (h) 1/- 1 -
D. A. Woffinden	10	8	1	217	31.00	75 Barnet Bs (h) -/1 3 -
J. D. Dangefield	5	5	1	124	31.00	101* Richmond (a) 1/
W. J. Dean	7	6	1	151	30.20	40* Teddington (h) -/
A. Samarakkody	6	4	0	117	29.25	57 Eastcote (a) -/1 1 -
C. Falconer	14	14	1	365	28.07	71 Teddington (a) -/2 1 -
V. Katyal	8	8	2	119	19.83	56 Barnet Bs (a) -/1
A. Quiyum	6	6	1	99	19.80	37 Ealing (a) -/- 1 -
A. J. Vinson	5	5	0	93	18.60	70 Winchmore Hill (a) -/1
A. J. Carr	13	7	3	70	17.50	19 Eastcote (h) -/- 4 -
P. Dunnett	12	9	1	136	17.00	36 Teddington (h) -/- 5 5
J. Hemingway	4	4	0	65	16.25	47 Richmond (h) -/- 2 -
A. R. Jenner	4	4	0	56	14.00	21 Eastcote (a) -/- 1 -
R. Bishop-Laggett	3	3	1	27	13.50	14* Stanmore (h) -/- 1 1
O. Ali	7	5	2	35	11.66	16 Barnet Bs (h) -/
T. J. Yeomans	9	9	0	102	11.33	23 Ealing (h) -/- 2 -
R. Loganathan	4	4	0	39	9.75	30 Stanmore (a) -/
S. Faruqi	13	12	3	87	9.66	20* Barnet Bs (h) -/- 2 -
F. Guppy	13	10	0	85	8.50	22 Richmond (h) -/- 2 -
B. Oduwole	10	9	0	68	7.55	24 Eastcote (h) -/- 2 -
H. Cahill	4	4	2	15	2.87	6 Tedd'n (a)/Bron (a) -/ 1
P. Lassman	4	3	1	5	2.50	3 Brondesbury (a) -/

Played in two matches: A. Habberley 4, 0; J. B. Jouning 24, 10 (3 ct).

**Played in one match:** L. Chipperfield 1; R. Desai 0\*; M. S. Faiz 7\*; W. Fox 9; K. Hassanin 0; R. F. Hill 10\*; D. Paul 2; C. Scotcher 4; Ashik Shah 2; Sudhir Shah 25; D. Simms 2\*; A. Sivarajah 6; H. Trivedi 0; K. Watson 8\*. NB: 8 catches not recorded in scorebook.

### BOWLING

Overs Mdns Runs Wkts Av'ge S/R Econ 5wks Best v Opposition

					0					
D. A. Woffinden	95.1	26	306	26	11.76	21.96	3.21	2	5-29	Ealing (h)
A. J. Carr	145.0	28	472	28	16.85	31.07	3.25	2	6-60	Eastcote (h)
A. Samarakkody	38.4	8	126	6	21.00	38.66	3.25	-	3-13	Stanmore (h)
S. Faruqi	94.4	16	350	13	26.92	43.69	3.69	1	7-35	Barnet Bs (a)
A. Quiyum	50.1	3	224	8	28.00	37.62	4.46	-	3-50	Stanmore (a)
B. Oduwole	15.0	0	76	2	38.00	45.00	5.06	-	1-20	Barnet Bs (h)
V. Katyal	30.0	5	120	3	40.00	60.00	4.00	-	2-40	Teddington (h)
O. Ali	56.1	5	261	6	43.50	56.16	4.64	-	3-42	Brondesbury (h)
P. Lassman	19.0	0	107	2	53.50	38.00	5.63	-	1-30	Brondesbury (a)
F. Guppy	71.0	11	332	3	110.88	142.00	4.67	-	2-38	Richmond (a)

#### Also bowled:

W. J. Dean 8.0-0-48-2; P. Dunnett 2.0-0-17-0; A. Habberley 5.0-1-24-0; K. Hassanin 1.0-0-12-0; R. F. Hill 4.0-0-15-0; M. S. Faiz 6.0-1-12-0; D. Paul 6.0-1-29-1; P. J. Robinson 10.0-0-64-1; J. G. Wilson 2.0-0-10-0.

# MIDDLESEX COUNTY CRICKET LEAGUE

### **THIRD TEAM LEAGUE TABLES 2009**

'P' = Played; W'= Won (10 points); 'wd'= Winning Draw (4 points); 'ld'= Losing Draw (1 point); 'L'= Lost (0 points); 'C'= Cancelled (1 points); 'A'= Abandoned (1 points); 'T'= Tied (5 points); 'Pen' = Penalty Points; 'Pts' = Total Points

	Р	W	L	WD	LD	С	А	Pen	Pts
Ealing	18	12	3	2	0	1	0	0	129
Hampstead	18	10	4	2	2	0	0	0	110
Richmond	18	8	6	1	2	0	1	0	87
Eastcote	18	8	8	1	1	0	0	0	85
Finchley	18	7	7	3	1	0	0	0	83
Stanmore	18	6	5	3	2	1	1	0	76
Twickenham	18	7	6	0	4	1	0	0	75
Teddington	18	6	11	1	0	0	0	2	62
Brondesbury	18	4	8	3	2	1	0	0	55
Wembley	18	3	13	0	2	0	0	0	32

#### **Division 1**

### **Division 2**

	Р	W	L	WD	LD	С	А	Pen	Pts
Barnet B's	18	12	3	1	0	1	1	0	126
Hornsey	18	11	4	1	1	0	1	0	116
Barnes	18	10	4	0	3	0	1	0	104
Harrow	18	7	6	2	2	1	0	0	81
North London	18	7	8	2	0	0	1	0	79
Richmond IV	18	6	9	2	1	0	0	0	69
North Middlesex	18	6	9	1	1	0	1	0	66
Winchmore Hill	18	5	8	2	2	0	1	0	61
Uxbridge	18	4	10	1	2	0	1	0	47
Southgate	18	4	11	1	1	0	1	0	46

### **Division 3**

	Р	W	L	WD	LD	С	А	Pen	Pts
Shepherds Bush	18	9	4	5	0	0	0	0	110
Highgate	18	9	5	3	1	0	0	0	103
Acton	18	8	7	1	1	0	1	0	86
South Hampstead	18	7	7	2	1	1	0	0	80
Brentham	18	7	7	2	2	0	0	0	80
Kenton	18	7	9	0	1	0	1	0	72
Harrow Town	18	5	7	3	2	1	0	0	65
Wycombe House	18	6	8	0	4	0	0	0	64
Ickenham	18	5	5	1	6	0	1	0	61
Bessborough	18	4	8	3	2	0	1	0	55

# 2009 3rd XI League Averages

~

14

### BATTING

	(* = not out)												
	Mchs	Inns	N/O	Runs	Av'ge	H'st	v Opposition	100/50s	Ct	St			
R. Bishop-Laggett	11	10	1	373	41.44	107*	Uxbridge (h)	1/2	4	-			
A. R. Jenner	11	11	0	290	26.36	75	Barnes (h)	-/2	4	-			
S. C. Hughes	10	10	0	261	26.10	130	Stanmore (h)	1/-	3	-			
A. Quiyum	5	4	0	103	25.75	65	North Middlesex (h)	) -/1	1	-			
F. W. P. Webb	12	11	2	226	25.11	70	Uxbridge (a)	-/1	4	-			
R. Loganathan	6	6	0	147	24.50	58	Richmond IV (a)	-/1	1	-			
B. Oduwole	4	4	0	92	23.00	89	Harrow (a)	-/1	-	-			
S. Faruqi	4	4	0	84	21.00	49	Barnes (a)	-/-	-	-			
P. S. Dave	5	5	0	103	20.60	83	North London (h)	-/1	-	-			
R. J. Marshall	12	11	0	226	20.54	95	Uxbridge (a)	-/1	-	-			
S. Shah	3	3	0	42	14.00	20	Richmond IV (a)	-/-	-	-			
H. M. Dowsett	4	4	1	39	13.00	18*	Winchmore Hill (a)	-/-	-	-			
A. J. Vinson	5	5	0	58	11.60	19	North London (h)	-/-	-	-			
R. F. Hill	10	8	2	67	11.16	27	Uxbridge (h)	-/-	3	-			
H. Cahill	8	7	1	78	11.14	44	Richmond IV (h)	-/-	2	2			
P. Lassman	8	6	4	16	8.00	12*	Hornsey (a)	-/-	3	-			
R. D. Gunn	3	3	2	8	8.00	7*	Barnet Bs (h)	-/-	-	-			
Ashik Shah	7	6	0	44	7.33	18	Barnes (a)	-/-	-	-			
D. W. Pyzer-Knapp	7	6	0	42	7.00	19	North Middlesex (h)	) -/-	4	2			
Arvind Shah	12	7	3	15	3.75	12*	Barnes (h)	-/-	2	-			
D. Simms	6	5	2	6	2.00	3*	Richmond IV (h)	-/-	1	-			
A. Habberley	3	2	0	4	2.00	4	North London (a)	-/-	-	-			
P. A. Sivarajah	3	3	1	3	1.50	3	Hornsey (a)	-/-	3	-			
N. Mazhar	7	4	0	5	1.25	4	Barnet Bs (a)	-/-	2	-			

**Played in two matches:** J. Berman 14, 0\* (1 ct); L. Chipperfield dnb, dnb; H. Debasia 0, 0; W. Fox 2, 7 (1 ct); D. Gordon 10; J. Lauras 0, 1; J. A. L. McCluskey 0, dnb.

**Played in one match:** A. J. Carr 0; M. T. Clucas 6; J. D. Dangerfield 63; R. Desai dnb; M. S. Faiz 7; F. Guppy 24\* (1 ct); K. Hassanin 13\*; V. Katyal 0; A. Kennedy 4; P. Kuleratne 6; R. A. Marett 0\*; A. Qadir 6; G. Saunders 0; T. Sivarajah 15; K. Weston 15; C. van Rhoon 29; M. van Rhoon 137. 13 catches unrecorded

DOWLING										
	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ	5wks	Best	v Opposition
A. J. Carr	20.0	7	31	2	15.50	60.00	1.55	-	2-31	N. Middlesex (a)
Arvind Shah	142.2	20	589	35	16.82	24.40	4.13	4	7-51	N. Middlesex (a)
J. A. L. McCluskey	24.1	5	86	5	17.20	29.00	3.55	-	3-46	Winchmore Hill (h)
N. Mazhar	50.0	2	270	12	22.50	25.00	5.40	2	5-59	Hornsey (a)
S. Faruqi	28.3	6	160	7	22.85	24.42	5.61	-	4-56	Barnes (a)
B. Oduwole	30.0	4	138	6	23.00	30.00	4.60	1	5-40	Harrow (a)
A Quiyum	50.1	3	226	7	32.28	43.00	4.50	1	5-65	Richmond IV (a)
A. Habberley	22.0	1	121	3	40.33	44.00	5.50		2-42	Hornsey (a)
P. A. Sivarajah	39.0	1	212	5	42.40	46.80	5.43	-	3-68	Barnet Bs (a)
P. Lassman	48.5	1	372	4	93.00	73.25	7.61	-	1-38	Winchmore Hill (h)
R. F. Hill	59.0	4	298	3	99.33	118.00	5.05	-	1-33	N. London (h)
D. Simms	24.0	0	119	1	119.00	144.00	4.95	-	1-31	Hornsey (h)

**Also bowled:** J. Berman 6.0-1-24-1; L. Chipperfield 3.0-0-15-0; M. T. Clucas 8.0-1-20-1; J. D. Dangerfield 8.0-2-45-2; H. Debasia 14.0-0-70-0; M. S. Faiz 15.0-4-39-3; F. Guppy 17.0-5-52-4; 5.0-0-25-0; K. Hassanin 12.0-0-61-1; V. Katyal 7.0-1-41-1; A. R. Jenner 2.4-0-14-0; J. Lauras 1.0-0-10-0; R. Loganathan 5.0-0-39-0; R. A. Marett 9.0-2-56-0; S. Shah 6.0-1-64-0; A. J. Vinson 18.0-2-121-2.

**BOWLING** 

# THE 1987 CRICKET LEAGUE 2009

	Division 1												
		Р	W(25)	W(20)	D	L	Α	Т	F+	F-	BAT	BOWL	PTS
1	EALING 4	18	5	4	5	4					76	25	306
2	HARROW ST MARY 3	18	1	10	3	3	1				46	14	292
3	EDMONTON 3	18	1	8	6	2	1				54	26	272
4	MTSSC 3	18	3	4	5	4	2				59	23	251
5	PERIVALE PH 3	18		6	7	5					83	36	239
6	WEMBLEY 4	18	1	2	4	9	2				115	36	230
7	ALEXANDRA PK 3	18	4	1	4	8	1				69	32	228
8	ENFIELD 3	18	1	5	5	6	1				47	45	224
9	<b>TEDDINGTON 4</b>	18	1	2	6	9					102	48	215
10	<b>TWICKENHAM 4</b>	18		1	5	10	2				102	39	175

	Division 2												
		Р	W(25)	W(20)	D	L	Α	Т	F+	F-	BAT	BOWL	PTS
1	OLD ACTONIANS	18	3	6	3	5	1				52	27	281
2	EDMONTON 4	18	5	3	5	5					53	36	274
3	SOUTH HAMPSTEAD	18	2	8	1	7					35	25	270
4	SOUTHGATE 4	18	3	4	4	5	2				63	29	261
5	ACTON 4	18	2	4	6	4	1		1	0	75	25	257
6	NORTH LONDON 4	18	3	3	7	3	2				73	28	250
7	<b>BRONDESBURY 4</b>	18	3	3	3	8	1				61	37	240
8	MTSSC 4	18	4		8	5	1				86	43	236
9	MILL HILL VILLAGE 3	18		5	2	8	2			1	42	30	186
10	HANWELL 3	18	1	2	1	14					80	38	183

		Р	W(25)	W(20)	D	L	Α	Т	F+	F-	BAT	BOWL	PTS
1	INDIAN GYM 3	18	6	4	5	3					55	21	306
2	<b>BIRKBECK COLL 3</b>	18	5	3	6	1	1		1	1	58	25	295
3	WINCHMORE HILL 4	18	2	3	4	7	1		1		77	28	242
4	BARNET B'S 4	18	1	5	4	6	1			1	80	28	240
5	HIGHGATE 4	18	2	2	3	8	1		2		69	34	240
6	KENTON 4	18	3	2	9	4					85	38	238
7	EALING 5	18	3	2	8	4			1		58	40	233
8	UXBRIDGE 4	18	1	4	5	7			1		56	40	221
9	POLYTECHNIC 3	18	3	2	3	5	1			4	38	25	185
10	ALEXANDRA PK 4	18	2	1	3	11	1				57	45	179

Continued ...

	Division 4												
		Ρ	W(25)	W(20)	D	L	Α	Т	F+	F-	BAT	BOWL	PTS
1	NORTH MIDDLESEX 4	16	2	7	4	2	1				54	14	265
2	SHEPHERDS BUSH 4	16	3	4		8			1		43	29	247
3	RICHMOND 5	16	2	5	4	2	3				43	23	237
4	CROUCH END 3	16	3	2	3	7			1		67	27	229
5	LOHANA 3	16		9	2	3	2				23	12	229
6	TWICKENHAM 5	16	4	1	2	4	2			3	35	18	187
7	PERIVALE PH 4	16	1	2	8	4	1				65	39	176
8	BRENTHAM 4	16	1	1	4	7	2		1		52	33	164
9	GWR 3	16		1	3	11	1				46	45	118
10	MILL HILL VILLAGE 4	0											0

	Division 5													
		Р	W(25)	W(20)	D	L	Α	Т	F+	F-	BAT	BOWL	PTS	
1	MTSSC 5	11	1	5	4	1					42	20	187	
2	EDMONTON 5	11	2	4	4		1				20	17	174	
3	INDIAN GYM 4	11	1	4	2	3	1				32	21	165	
4	OSTERLEY 3	11	2	3	1	1	1		2	1	3	4	164	*
5	NORTH LONDON 5	11	1	1	4	2	1		2		41	19	152	
6	BIRKBECK COLLEGE 4	11	2		1	4			2	2	36	8	134	
7	ICKENHAM 4	11		2	1	5			3		20	13	133	
8	WINCHMORE HILL 5	11	1		3	3			2	2	34	19	118	
9	WEMBLEY 5	11		3	4	3	1				31	18	116	**
10	OSTERLEY 4	11	2	1	2	4				2	14	24	108	
11	HIGHGATE 5	11	1		3	6				1	44	29	98	
12	HORNSEY 4	11	1		3	4	1			2	44	22	98	
13	GWR 4	0											0	
Con	nmittee decision													
* OSTERLEY 3 Deducted 10 pts for late cancellation														
	STERLEY 4 Deducted 20 p					the r	norr	nina	of th	e ma	atch			

### 2009 4th XI League Averages

#### BATTING

BATTING			t out)							
	Mchs	Inns	N/O	Runs	Av'ge	H'st	v Opposition	100/50	Ct	St
R. A. Marett	11	8	4	349	87.25	101*	Brondesbury IV (a)	1/1	1	-
L. Chipperfield	3	3	1	94	47.00	55*	Edmonton IV (h)	-/1	2	-
R. D. Gunn	12	11	3	371	46.37	150*	MTSSC IV (h)	1/1	12	11
A. Kennedy	2	2	0	79	39.50	74	Acton IV (h)	-/1	2	-
M. T. Clucas	3	2	0	66	33.00	34	Edmonton IV (a)	_/_	-	-
S. Vaya	4	2	0	63	31.50	36	Acton IV (h)	-/-	2	-
D. Gordon	12	11	1	314	31.40	64	Edmonton IV (a)	-/3	7	-
K. Depala	4	4	0	106	26.50	53	Brondesbury IV (h)	-/1	1	-
D. W. Pyzer-Knapp	2	2	0	44	22.00	27	Edmonton IV (h)	-/-	-	-
C. Attwood	10	9	2	132	18.85	35*	Old Actonians IV (h)	-/-	12	-
L. J. W. Stokes	14	12	6	99	16.50	29*	Edmonton IV (h)	-/-	4	-
B. Depala	5	5	0	69	13.80	47	Brondesbury IV (h)	-/-	-	-
S. Cradock	12	8	3	64	12.80	28	Edmonton IV (a)	-/-	6	-
M. Mallinson	4	4	0	51	12.75	26	Brondesbury IV (a)	-/-	2	-
Ashik Shah	7	6	0	67	11.16	23	Acton IV (a)	-/-	1	-
P. Lassman	4	2	1	11	11.00	11*	Mill Hill Village III (h)	-/-	4	-
D. Turnbull	3	3	0	30	10.00	28	Old Actonians IV (h)	-/-	1	-
P. A. Sivarajah	3	3	1	18	9.00	9	Hanwell III (h)	-/-	1	-
R. F. Hill	2	1	0	9	9.00	9	MTSSC IV (h)	-/-	1	-
Sawan Shah	2	2	1	9	9.00	7*	Mill Hill Village III (a)	-/-	1	-
D. Depala	5	5	0	42	8.40	24	Old Actonians IV (h)	-/-	2	-
H. M. Dowsett	8	6	0	48	8.00	24	Acton IV (a)	-/-	1	-
R. Hewit	10	3	2	7	7.00	6*	MTSSC IV (a)	-/-	-	-
J. Lauras	3	1	0	6	6.00	6	Mill Hill Village III (h)	-/-	-	-
M. Stavri	5	5	1	19	4.75	5*	Old Actonians IV (h)	-/-	1	-
D. K. Walters	6	2	1	4	4.00	4*	Acton IV (a)	-/-	-	-
D. Simms	6	2	0	8	4.00	8	Mill Hill Village III (h)	-/-	4	-
J. D. Berman	2	2	0	3	1.50	3	Brondesbury IV (h)	-/-	1	-
M. Lassman	5	3	0	2	0.66	2	Brondesbury IV (a)	_/_	-	-

Played in one match: P. S. Dave 17; H. Debasia dnb; A. Habberley 11\*; I. W. Henley 8; M. P. B. Kennedy 16 (ct 3); N. Mazhar dnb (1 ct); B. Oduwole 28; H. Trivedi dnb (1 ct); F. W. P. Webb 29; C. van Rhoon 19 (2 ct); M. van Rhoon 47 (2 ct); A. J. Vinson 45\*.

#### **BOWLING**

	Overs	Mdns	Runs	Wkts	s Av'ge	S/R	Econ	5wkts	Best	v Opposition
R. A. Marett	159.3	41	473	41	11.53	23.34	2.96	2	8-41	Mill Hill Village III (a)
S. Vaya	19.3	1	92	6	15.33	19.50	4.71	1	5-34	MTSSC IV (h)
D. Simms	34.0	8	140	9	15.55	22.66	4.11	-	3-0	Brondesbury IV (h)
S. Shah	13.0	2	49	3	16.33	26.00	3.76	-	2-30	MTSSC IV (a)
L. J. W. Stokes	140.2	15	646	34	19.00	41.41	4.60	3	5-45	Hanwell III (a)
L. Chipperfield	17.0	2	64	3	21.33	34.00	3.76	-	2-16	Brondesbury IV (a)
S. Cradock	96.2	15	382	17	22.47	34.00	3.96	1	5-46	Old Actonians IV (h)
R. Hewit	71.0	6	337	8	42.12	53.25	4.74	-	3-50	Brondesbury IV (a)
D. Turnbull	24.0	3	94	2	47.00	72.00	3.91	-	1-29	Old Actonians IV (h)
P. Lassman	19.0	4	104	1	104.00	114.00	5.47	-	1-17	Hanwell III (a)
M. T. Clucas	16.0	2	68	0	-	-	4.25	-	0-32	North London IV (a)

Also bowled: H. Debasia 4.0-0-38-0; B. Depala 7.0-1-39-1; D. Depala 1-0-3-0; K. Depala 6.0-0-27-2; D. Gordon 6.0-1-18-1; A. Habberley 7.0-0-44-1; R. F. Hill 10.0-2-43-1; J. Lauras 10.0-0-53-2; N. Mazhar 4-0-26-0; B. Oduwole 1.0-0-10-0; P. A. Sivarajah 0.1-0-4-0; D. K. Walters 5.0-0-19-0.

# 4<sup>th</sup> XI League Report

### Len Stokes

As the dust settles on a tumultuous season for the Fourth XI we can reflect on what might have been. The season eventually hinged around four key games, some very tight decisions, some excellent cricket played by Southgate's version of Dads' and Lads' army, and some less-wonderful moments. Traditionally, Southgate's problem has been bowling sides out often enough to win the league. This problem is somewhat compounded by the excellence of the wickets prepared by Steve Martin (brilliant work yet again, thanks Steve) and the seemingly overwhelming desire of decent opposition batsmen to score runs on the back ground.

This year, however, the bowling was much stronger. So strong at times that the captain was spoilt for choice. Of the regular players, only Attwood and Gunn didn't turn their arm over. Having said that, it wasn't a case of the skipper giving everyone a game. I can't remember a time all summer when I didn't have the best bowlers bowling (or at least that was my opinion.) Everyone contributed in their own way. From young Jon Lauras' Herculean effort mid-season when all the seamers had a collective day off, to Marett and Turnbull haring in on the South Hampstead minefield in the second half of the season, there was never less than 100% effort with the ball. As captain, that's very gratifying.

The stats show that Marett (with 41 scalps) and Stokes (with 34) took over half the wickets between them (some might say that this was because they bowled two thirds of the time) and Roy's devastating spells against Brondesbury and Hanwell [not forgetting eight at North London, Ed.] will hopefully be rewarded at the League dinner. Cradock took 17 wickets and they always seemed to be key ones. Other bowlers, notably Hewit and Simms, held the bowling effort together, and apart from when the wheels nearly came off against North London at Ferme Park there wasn't a time all summer when I felt we were truly dominated. In the end we lost five games, two by the narrowest of margins, which we could easily have won.

As an aside, I still fail to understand how, year after year, we collectively underperform against Edmonton. We just seem to collectively not show up. Indeed my own personal performance was so poor in the first game that for the first time in 10 years the Club Secretary publicly admonished me for being "not very good today." Fierce criticism indeed for one so normally mild mannered. The batting department functioned adequately all season, with the return of the Depala boys towards the end of the season particularly praiseworthy. By the end of the season, they were occupying slots 1, 3 and 5 in the batting order and were always good for 90-100 runs between the three of them.

The two stars with the bat were Roy Marett and Ricky Gunn. Roy averaged 87 and was very efficient in the middle order when required. His 93 not out against North London allowed us the chance to attack for their entire innings and we would have looked in a very poor state without him. One of the two highlights of the season for me was Ricky's marvellous effort against the Tamils. It may be a future quiz question for SCC stattos: which Southgate player made their highest score in any form of cricket after their 60th birthday? R D Gunn 150 not

out. There were also useful contributions with the bat from Doug Gordon and Luke Chipperfield early in the season. When called upon, the tail often wagged, most memorably away at Edmonton, when Stokes and Cradock led a counterattack that turned the game; Edmonton at home when Chipperfield (at 7) and Stokes at 9 put on an unbroken stand of 70 for the seventh wicket; and most significantly of all when Roy Marett nursed a badly bruised captain to a 50 run partnership for the tenth wicket at the South Hampstead artillery range.

The close catching this year was exemplary. Gunn was outstanding behind the stumps (because apparently this year the bowlers were putting it in the right place) and in the slips Cradock and Gordon took a series of excellent catches (and in Stuart's case some remarkable caught and bowleds). Occasionally the captain had the odd one that stuck, too. The biggest difference this year was the ground fielding. In previous year's Mike Stavri had been viewed as an outstanding fielder in our league. This season, Dan Simms, all three Depala boys and Mark Mallinson all soared past Mike's previously high benchmark, only to see Chris Attwood pull off a series of fielding was consistently outstanding but exceeded all possible expectations with an indescribably brilliant catch with his weak hand at extra cover in the Brondesbury game.

My other highlight of the summer. I need say no more. The overriding feeling is that the season was one of good fun, great camaraderie and a genuine communal desire to do your utmost for the other 10 lads on the pitch. While I'm thankful for everyone's efforts, I would particularly like to single out Ron Hewit and Paul Lassman, who both turned out at a moment's notice (literally) making the captain's job so much easier. Also, the ever present Delmore Walters. Del was available for every game the 4th team played and if he wasn't selected he was perfectly happy to umpire. Cricket clubs thrive on this sort of attitude. A public thank-you Del from the whole squad.

So what are the plans for next year? The fourth team is in good order. We were on for promotion until the last 20 overs of the season and had we had a little more luck in some games, or the benefit of a tight decision which often seemed to go against us, or an umpire when the opposition forgot what lbw stood for, then we might be talking about a championship for the SCC trophy cupboard. Next year, there will be new administration in the club as Captain Straightbreak is standing down from at least two of the three offices he currently holds. If the new admin team get half the support the 4th XI squad has given me this year, then they will have a fantastic season's cricket. The goal next year? Win every game and leave nothing to chance. Hopefully, someone will be writing this article in 2010 stating that next season's goal is promotion to the County League. Why not - we were only one win away from getting promoted this time round. Winter well. Lord Straightbreak

Just a closing thought ...

We knew all season that Edmonton were an irrelevance for promotion. Even if they had won the league, their third team was in the top division therefore their 4th team could not be promoted.

In short, as I said at the time, it all came down to that last game despite all the attacking cricket we had played all summer (especially at home where Mr Martin and his batting buddies were the perennial victors).

No use crying over spilt milk.

I close with some of the leading 4<sup>th</sup> XI 1987 League statistics provided by you know who, from 2001 to date. ...

	Matches	Inns	N/Os	Runs	H'st	Average	100s	50s	Catches	Stmpgs
L J W Stokes	86	76	17	2316	134*	39.25	8	8	29	0
H M Dowsett	117	105	16	2300	107*	25.84	1	15	30	0
R D Gunn	79	72	12	2115	150*	35.25	2	10	59	39
D Gordon	116	94	21	1842	64	25.23	0	9	32	0
M Stavri	107	89	18	921	63	12.97	0	1	42	1
K Haria	35	29	7	879	145*	39.95	1	4	11	2
M T Clucas	49	38	11	621	66	23.00	0	2	12	0
C S McEacher	rn 20	17	3	512	103*	36.57	1	3	5	0
I W Henley	44	37	8	557	69	19.21	0	1	16	0
M Millar	28	23	5	490	80*	27.22	0	3	11	0
A Jain	26	23	0	440	60	19.13	0	2	13	0

	Overs	Mdns	Runs	Wkts	Average	Strike	Economy	Best	5 wkts
L J W Stokes	807.2	124	3046	167	18.24	29.00	3.77	7-17	8
A Hawthorn	432.4	75	1551	85	18.25	30.52	3.59	5-23	3
A G H Rolt	372.1	59	1542	63	24.48	35.44	4.14	5-31	1
R Hewit	377.1	65	1824	57	32.00	39.69	4.84	3-21	0
S Cradock	247.1	37	964	45	21.42	32.95	3.90	5-20	3
M T Clucas	274.3	24	1174	43	27.30	38.27	4.28	4-31	0
R A Marett	159.3	41	473	41	11.54	23.31	2.97	8-41	2
A Habberley	276.1	25	1097	40	27.43	41.42	3.97	6-42	1
N Chadwick	204.3	41	666	33	20.18	37.15	3.26	5-55	1
C S McEachern	167.0	13	846	32	26.44	31.31	5.07	5-36	1
D Gordon	122.1	23	470	28	16.79	26.16	3.85	8-25	1



LJWS

The 4<sup>th</sup> XI scouts spot a young replacement left-arm spinner at Winchmore Hill. (Ian Henley, Doug Gordon, Melanie Henley, Ricky Gunn)

# **Southgate Colts**

## **Ricky Gunn**

In 2009 the number of active colts between the ages of 8 and 15 totalled 73.

**The Under 15s** maintained their standard of recent years and finished runners up to a very powerful Finchley side in the 2<sup>nd</sup> of 4 divisions. Josh Berman skippered the side intelligently and led by example with the bat and ball, strongly supported by Ashley Sivarajah and Julius Thomson. Mark Hughes became more determined as the season progressed and brought off some spectacular catches while Michael Donovan bowled consistently well. The leading performers were

Josh Berman	195 runs, average 24.37; 9 wickets at 17.55.
Ashley Sivarajah	140 runs, average 17.50; 10 wickets at 11.00.
Julius Thomson	139 runs, average 23.16; 8 wickets at 18.12
Mark Hughes	116 runs, average 12.88; 9 (mostly electrifying) catches.
Michael Donovan	10 wickets, average 15.60

TEAM	Р	W	Tie	L	Aban	Pts
Finchley	8	8	0	0	0	160
Southgate	8	4	0	4	0	98
Winchmore Hill A	7	4	0	3	0	93
Edmonton B	7	2	0	5	0	56
Enfield A	8	1	0	7	0	40

#### MCA EAST AREA UNDER 15: Pool 1 Division 2

**The Under 13s** were brilliant and reached the last 16 in the Middlesex Championship knockout competition. Shiv-Raj Sharma, who suffered a string of questionable decisions early in the season bounced back with some good scores. His unbeaten 91 to beat Botany Bay's total of 104 to win the League was masterly, and his 88 in the play-off against Winchmore Hill 'A' from the division above, combined with Noah Bergman's hat-trick saw us qualify to play Uxbridge in the last 16. Sadly that was the end of the trail where we lost to a well-drilled side but was a good reflection on the season. Leading performers were

Shiv-Raj Sharma 11 games 317 runs, average 31.70

Rahul Shah 9 games 177 runs, average 22.10

Marcello de Crescenzo 9 games 60 runs, average 10.00; 31 overs, 12 wickets average 11.00

Matthew Dias 16 overs 7 wickets for 58 at 3.6 runs per over

Niroosh Sugumaran 30 overs 6 wickets for 93 at 3.1 per over

Continued ...

TEAM	Р	W	Tie	L	Aban	Pts
Southgate	8	5	1	2	0	55
Botany Bay	8	5	0	2	1	52
Winchmore Hill B	8	5	0	2	1	52
Cockfosters	8	1	1	5	1	17
Edmonton B	8	1	0	6	1	12

#### MCA EAST AREA UNDER 13: Pool 1 Division 2

#### The Under 11s

Considering that a large proportion of the team were in fact Under 10 or even Under 9, registering two outright wins plus a forfeit from Potters Bar ensured survival in the top division for the 2010 season. Christian McLoughlin (Under 10) stepped up to fill the wicketkeeping role with encouraging results, and often proved difficult to dislodge as a batsman. Harvey Lowe played a couple of good innings and looked to have good potential as an all-rounder. 9 year-olds William Jenner (8 wickets), James Dangerfield and Liam Babwah all performed courageously and will have gained valuable experience and confidence as a result. Nikhil Saglani and Yasin Hassanin were the senior players who could generally be relied on to bowl straight and score some runs while everybody fielded enthusiastically and contributed to the enjoyment of the games.

#### MCA EAST AREA UNDER 11: Pool 1 Division 1

TEAM	Р	W	Tie	L	Aban	Pts
Winchmore Hill	10	7	0	0	3	76
Finchley	10	7	0	1	2	74
Edmonton	10	5	0	3	2	54
Potters Bar	10	3	0	6	1	32
Southgate	10	3	0	6	1	32
Southgate Adelaide	10	0	0	9	1	2

#### Under 10s.

Numbers were again too low to consider regular fixtures this year but the stronger players were able to add support to a relatively weak Under 11 group. Christian McLoughlin and Harvey Lowe performed creditably for the Under 11 side as did 9 year-olds William Jenner (8 wickets), James Dangerfield and Liam Babwah.

#### **Colts Awards 2009**

Club captain Rob Johnson kindly consented again to present the following awards to the following young players:

Endoaroum

Performance:

Performan	ice:	Endeavour:
Under 15	Joshua Berman	Under 15 Joshua Maddocks
Under 13	Shiv-Raj Sharma	Under 13 Matthew Dias
Under 11	Nikhil Saglani	Under 11 Harvey Lowe
Under 10	Christian McLoughlin	

Southgate Club caps were awarded to Marcello De Crescenzo, Mark Hughes, Niroosh Sugumaran and Nikhil Saglani.

The Club benefited from the loyal commitment of volunteers John Williams, Colin Fox, Jeremy Dangerfield, Roger Hill, Parinder Kuleratne and Joe Kurup plus support from the parents and club players who lent a hand at training to whom much thanks are owed.

We are again grateful for the very practical financial support provided by Data Connection which enabled our quality of coaching to be kept at a high level throughout the summer term.

CROKE

A report from behind the scenes, to provide an idea of the thrills and spills of colts cricket. An email from Ricky Gunn to Colin Fox:

Colin

After the trauma of spending an entire day phoning, texting, emailing and voicemailing, the ultimate XI finally arrived at Edmonton. Guest stars were Zohar Houston and Shiv-Raj Sharma (fresh from yesterday's 91 not out in the U13s' 8 wicket win overhauling Botany Bay's 104 - yes, 104 ...!) Wafa couldn't play (school game) but Ashley's figures of 4-2-11-5 and later (when he finally turned up) Julius 4-1-11-2 paved the way to restricting Edmonton to 98-8 in 20 overs. Josh (15), Mark, 30 n.o., Ashley (run out again!) 10 and Julius 33 n.o. (unpretentious as ever but with a succession of brilliant shots – 6 fours) saw us home in 14.1 overs. A good, honest and loyal victory – everyone playing for everyone else. Josh and Danial bowled well, Vishaal fielded with enthusiasm, Mark, Josh and Mike always sound in the field. Worth all the trouble of the earlier part of the day to see their elation in a convincing victory. A great team effort.

Ricky



Courtesy of Daily Telegraph

# Career records of current players to end of 2009 season (and past players where so far calculated ...)

Includes all Southgate C.C. League, Cup and friendly matches but not 20-over competitions.

### **Batting and Fielding**

Fielding										
	Matches	Inning	N/Og	Runs	Highost	Average	100s	50s	Ct	nng St
	Matches	mmigs	11/05	Kulls	(* = not of	0	1005	308	Ci	St
0.41	05	01	21	1410			2	2	16	0
O Ali John Allen	95 51	81	21	1412	207*	23.55 15.17	3 0	3 0	16	0
John Allen	51	29 27	11 3	273	42		2		18	0
T J Allan	30	153	3 35	915 3440	128*	38.13 29.40	2 3	4 17	16 81	0 3
D G Ashley	177	135	55 13	2513	118 72*	29.40 20.77	5 0	17 9	30	5 0
D J Beatty	137	134 32	15 4					9 3		
G K Berg	34			743	128*	26.53	1		14	0
R Bishop-Laggett G N Blackmore	427	347	83 84	6724 2143	107* 100	25.47	1 1	25 2	227	35
	389	213	84 2		100	16.61		15	129 22	0
M J Brown	61 544	60 120		2515		43.36	6			7 2
G M Burton	544	429	133	8555	103*	28.90	1	33	118	
A J Carr	699	514	115	8643	103	21.66	3	22	200	0
M T Clucas	96	76	17	917	66	15.54	0	2	20	0
S Cradock	474	313	103	4366	90	21.09	0	11	125	0
M L Creese	121	104	15	2216	184*	24.90	3	9	57	0
J D Dangerfield	709	609	119	11399	129*	23.12	8	48	248	2
P S Dave	39	37	5	873	83	27.28	0	8	5	0
W J Dean	568	521	62	13224	141*	28.81	11	70	222	0
G P Delf	122	113	14	1988	136*	20.08	2	9	33	0
B Dharmarajah	89	63	18	729	37	16.20	0	0	18	0
H M Dowsett	502	459	54	8730	114*	21.56	2	34	109	0
R Devarakonda	42	37	6	454	39	14.65	0	0	7	0
M T Dunn	560	501	81	11783	136*	28.05	6	61	229	0
A K Durgacharan	523	472	55	11132	129	26.70	10	52	164	0
A L Fleming	21	19	2	729	162*	42.88	2	4	1	0
S Flook	476	261	87	2827	101*	16.25	1	7	133	0
S Goodley	89	51	19	346	57	10.81	0	1	40	36
D Gordon	390	358	45	6522	100*	20.83	1	28	103	0
R D Gunn	1018	902	116	18416	150*	23.43	12	84	555	327
A Habberley	96 250	38	9	92	12	3.17	0	0	9	0
I W Henley	358	320	33	4946	77	17.23	0	9	64	0
R M Hewit	65	31	11	87	9*	4.35	0	0	6	0
A Jain	41	37	1	638	60	17.72	0	4	18	0
K C Haria	115	99	17	2022	145*	24.66	1	8	27	2
B R Hartman	340	293	49	5966	112*	24.45	4	26	86	0
R F Hill	81	65	22	582	44*	13.53	0	0	17	0
P M G Honnor	187	170	24	4111	124*	28.16	4	25	28	0
D C J Howell	375	223	51	1707	68*	9.92	0	1	94	0
S C Hughes	47	45	4	1557	130	37.98	5	6	7	0
A R Jenner	1083	1017	164	25689	132*	30.12	23	142	408	4
R A Johnson	134	105	16	1584	162*	17.80	1	7	49	0
J B Jouning	601	580	56	15532	138*	29.64	13	90	246	20
M P B Kennedy	174	133	30	2589	125	25.14	1	12	108	46
P Lassman	66	37	18	112	14	5.89	0	0	16	0

Continued ...

									Fiel	ding
	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St
R Loganathan	47	45	4	1201	102*	29.29	1	9	12	0
T J Lucas	188	105	38	989	87	14.76	0	3	131	69
R J Marshall	258	248	19	5710	121	24.93	8	25	43	0
S J P McGuinness	122	96	24	1319	70	18.32	0	7	36	1
M Millar	125	105	16	1515	80*	17.02	0	5	32	0
F Mir	163	128	32	1967	130*	20.49	1	5	29	0
Fawad Mullahzada	105	84	7	1561	109*	20.27	1	5	24	0
C J Payne	507	483	95	16209	146	41.78	26	95	281	1
A Popat	28	22	1	294	79	14.00	0	1	7	0
P J Robinson	78	73	13	1908	127*	31.80	1	11	38	0
A G H Rolt	358	231	42	1891	76	10.01	0	2	55	0
G S Rowe	1184	1115	136	30873	163*	31.54	33	182	450	1
I Salter	44	40	8	799	76*	24.97	0	5	10	0
J E Sambrook	79	73	4	1445	80	20.94	0	7	16	0
C Saville	611	386	143	4002	72*	16.47	0	4	57	0
D P Seccull	91	87	15	3817	152*	53.01	10	22	43	0
T Siddiqi	44	24	7	142	40	8.35	0	0	9	0
M D J Singleton	54	29	12	252	32	15.12	0	0	36	26
T Sivarajah	148	72	25	410	65	8.72	0	1	19	0
A V Spencer	245	243	26	7324	125*	33.75	11	39	69	0
M O Stevens	169	148	22	3417	111	27.12	3	18	60	4
L J W Stokes	439	357	85	7552	134*	27.76	9	30	99	2
B L Sutton	54	53	7	2071	172*	45.02	5	13	23	2
J C Thorpe	163	88	33	1068	101*	19.42	2	2	32	0
N J Tohill	150	138	15	3410	132	27.73	3	15	48	3
S J Tohill	50	47	3	1690	146	38.41	2	10	20	0
A J Vinson	119	101	18	1707	104	20.57	1	5	12	1
C A Waller	402	390	29	10280	111	28.48	7	46	130	2
G A Wates	23	22	3	796	130	41.89	2	4	8	0
F W P Webb	73	69	4	1471	76	22.63	0	8	18	0
P I W Wilmshurst	117	73	17	521	36	9.30	0	0	26	0
J G Wilson	80	75	8	1805	107	26.94	3	5	9	0
M Wloch	69	63	9	1040	115	19.26	1	1	24	2
D A Woffinden	218	191	37	4721	104*	30.66	2	29	66	0
K Yeh	40	38	2	522	81*	14.50	0	3	7	0

### Bowling

	Overs	Mdns	Runs	Wkts	Average	Best	5wkts	S/Rate	Economy
							()	Balls/wkt	) (Runs/ov)
O Ali	481.1	27	2611	71	36.77	7-17	2	40.66	5.42
John Allen	388.4	41	1531	65	23.55	4-38	0	35.87	3.93
D G Ashley	235.0	32	965	40	24.13	6-11	1	35.25	4.11
G K Berg	323.0	60	1043	55	18.96	6-50	2	35.23	3.22
G N Blackmore	3462.0	742	11506	613	18.77	6-11	14	33.88	3.32
G M Burton	1914.5	181	8137	344	23.65	5-26	4	33.39	4.24
A J Carr	5840.0	1111	19449	942	20.65	8-49	33	37.03	3.33
M T Clucas	402.1	34	1701	62	27.44	4-5	0	38.91	4.23
S Cradock	4357.2	940	13884	592	23.45	7-41	11	44.16	3.19
M L Creese	1168.0	209	4079	205	19.90	7-37	16	34.19	3.49
J D Dangerfield	3813.5	701	12647	622	20.33	7-23	15	36.79	3.31
P S Dave	63.0	4	369	18	20.50	4-38	0	21.00	5.86

Continued ...

	Overs	Mdns	Runs	Wkts	Average	Best		s <b>S/Rate</b> (Balls/wkt)	<b>Economy</b> ) (Runs/ov)
W J Dean	2897.0	319	11837	470	25.19	6-40	7	36.77	4.08
R Devarakonda	65.5	4	389	470 14	27.79	3-8	0	28.21	5.90
B Dharmarajah	534.4	80	2023	71	28.49	4-46	0	45.18	3.78
M T Dunn	3817.5	900	11679	650	17.97	8-32	20	35.24	3.06
A K Durgacharan	2730.1	364	10756	475	22.64	8-60	20	34.52	3.94
A L Fleming	269.1	43	917	31	29.58	7-43	1	52.09	3.40
S Flook	3663.1	719	12809	469	27.31	6-27	8	46.86	3.49
R Freckleton	142.3	20	567	28	20.25	5-33	2	30.53	3.97
D Gordon	348.5	43	1592	73	21.81	8-25	1	28.64	4.57
R D Gunn	40.3	8	114	6	19.00	2-1	0	40.50	2.81
A Habberley	616.0	65	2588	82	31.56	6-42	1	45.07	4.20
R J Hailey	3695.4	1174	9710	712	13.64	8-25	46	31.14	2.62
B R Hartman	1187.4	181	4529	180	25.16	8-33	4	39.58	3.81
A Hawthorn	2851.0	531	10095	380	26.57	7-12	6	45.02	3.54
R M Hewit	480.4	64	1920	61	31.48	4-77	0	47.25	4.00
R F Hill	527.1	84	1976	62	31.87	4-42	0	51.01	3.75
P M G Honnor	290.0	47	1123	42	26.74	4-18	0	41.42	3.87
D C J Howell	1600.1	194	6782	196	34.60	7-27	2	48.98	4.24
A R Jenner	1737.4	154	8065	438	18.41	7-34	$17^{2}$	23.80	4.64
R A Johnson	872.5	99	3852	155	24.85	5-40	1	33.77	4.41
P Lassman	392.2	29	2245	60	37.42	5-35	2	39.22	5.72
R Loganathan	131.2	2) 7	609	27	22.56	5-13	1	29.16	4.64
S J P McGuinness	438.5	, 46	1976	61	32.39	3-34	0	43.16	4.50
M Millar	195.0	11	1013	36	28.14	3-15	0	32.50	5.19
F Mir	1337.2	173	5443	216	25.20	7-16	7	37.14	4.07
Fawad Mullahzada	789.5	105	3281	141	23.20	5-17	2	33.60	4.16
A Popat	143.3	105	628	42	14.95	5-13	$\frac{2}{2}$	20.50	4.37
P J Robinson	130.0	18	565	22	25.68	4-47	$ \frac{2}{0} $	35.45	4.35
A G H Rolt	1360.0	174	6179	246	25.12	7-37	3	32.90	4.58
G S Rowe	4996.1	936	17114	849	20.12	9-21	12	35.30	3.42
I Salter	274.3	25	1258	39	32.26	4-30	0	42.23	4.58
C Saville	7456.4	1676	23113	1162	19.89	8-30	52	38.50	3.10
D P Seccull	47.2	7	239	4	59.75	2-19	0	71.00	5.04
C E Shreck	227.5	31	795	37	21.48	4-19	Ő	36.94	3.48
T Siddiqi	420.4	61	1684	72	23.39	4-12	0	35.05	4.00
T Sivarajah	1434.1	366	4088	190	21.52	6-62	3	45.28	2.85
M O Stevens	455.1	60	1886	92	20.50	7-54	3	29.68	4.14
L J W Stokes	3271.4	554	12933	602	21.48	8-30	16	32.60	3.95
J C Thorpe	1231.4	211	4258	201	21.18	6-21	4	36.76	3.45
N J Tohill	223.5	19	1069	33	32.39	6-44	1	40.72	4.77
P C R Tufnell	1023.2	240	3051	192	15.89	7-4	6	31.97	2.98
A J Vinson	566.5	73	2328	86	27.07	7-62	2	39.52	4.11
B Vinson	256.2	37	922	30	30.73	4-26	$\tilde{0}$	51.24	3.60
G A Wates	220.3	35	789	34	23.20	7-73	1	38.91	3.57
P I W Wilmshurst	480.0	63	2191	88	23.20 24.90	6-23	1	32.72	4.56
J G Wilson	24.5	2	102	1	102.00	1-21	0	149.00	4.16
M Wloch	112.1	9	494	13	38.00	2-1	0	51.74	4.41
D A Woffinden	112.1	264	4176	213	19.61	2-1 8-41	9	33.32	3.53
	1105.0	204	7170	215	17.01	0-41	,	55.54	5.55